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1.2.1 FETCh F &%

FETCh:CURRent?

Ui B« o] 4% S FLAAE
BT FETCh:CURRent?
[l 4 24 <NR2>, [Hii7: A]
AT - FETCh:CURR?

=] 4% i 451« 1.000
FETCh:VOLTage?

Wi B : (] 4% S H AR
PR FETCh:VOLTage?
[ % 244 <NR2>, [¥47: V]
AT FETCh:VOLT?

=] A% 5 451« 12.000

FETCh:POWer?

LA : B £ SE IR HE AR
B FETCh:POWer?
[ % 24 <NR2>, [#.f7: W]
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EERGINERIE
(EECSERE

FETCh:POWer?
3.000

FETCh:TIME?

Wi B : EAEIZAT THI
BT FETCh:TIME?

[ % 24 <NR2>, [FA7: 5]
AT FETCh:TIME?

=] A% 5 451« 50

FETCh:IPP?

Wi B : (] 4% FEL AT DU A
fIETE: FETCh:IPP?

[l 24 <NR2>, [#1.i7: A]
AT FETCh:IPP?

=] A% 5 451« 0.003
FETCh:VPP?

Ui B« ] 4% F s DR D {1
ATE L FETCh:VPP?

[ LS5 <NR2>, [HA7: V]
AT FETCh:VPP?

=] A% S 451« 0.020
FETCh:MAXI?

Ui B« [04% OCP fi KARY HL VL -
B EE: FETCh:MAXI?

[ % 244 <NR2>, [H.07: A]
AT FETCh:MAXI?

=] 4% S 451« 4.500
FETCh:MAXP?

Ui B« [ 4% OPP s KARY Th2
B EE: FETCh:MAXP?

[ 4% 244 <NR2>, [#.07: W]
AT FETCh:MAXP?

=] 4% S 451« 8.000
FETCh:TRIS?

Ui B« [ A& I A1 OVP S8R 1) B F/ T BRI ]
B UTE L FETCh:TRIS?
EFEE %8 <NR2>, [FiA7: ms]
AT - FETCh:TRIS?

[m] % a5« 40.000
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FETCh:CAPacity?

Ui B -

fIETE: FETCh:CAPacity?

[FfEZ 4L <NR2>, [f47: AH/WH, BT A ]
AT FETCh:CAPacity?

EIREERi7E 3.250

[ FLHL R R T L

FETCh:EFFect

Wi B : o] A% 17 R T A L o
fIETE: FETCh:EFFect?

[ % 24 <NR2>, [#.47: %]
AT FETCh:EFF?

=] A% 5 451« 0.50
FETCh:DELTV

AR £ AV,

ATE L FETCh:DELTV?
] % 24 <NR2>, [H.7: V]
AT FETCh:DELTV?
=] 4% S 451« 0.100

1.2.2 STATus F &%

STATus:RUN?

Wi B : [ 4% L s TR
BT STATus:RUN?

[ % 24 0]1,[0fF1k, 1 i217]
AT STATus:RUN?

=] 4% 5 451« 0

STATus:TRIG?

Wi B : [ A% S A i R 1 SRR
BT STATus:TRIG?

[ % 24 0] 1, [0 B5F, 1 F5Rfilk]
AT STATus:TRIG?

=] 4% 5 451« 1

STATus:RESn?

Ui B« LSS n ANIAZE R . FIFAE A D0 N — IS B, AT
AR 45 554 REST.

A TEk: STATus:RES<NR1>?

i 218 1~16

] % 24 0| 1, [0 Fail, 1 Pass]

AT STATus:RES1?
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(EECSERIE 1

1.2.3 EVENt F &4t

EVENt?

Ui B« IR e L

B EE: EVENt?

EEE 28 <NR1>, FHAARS N FR:

A
Bit0: B2 e Bit8: K PR
Bit1: EEoEN/Le Bit9: 7R
Bit2: WP Bit10: REA 515
Bit3: o AR Bit11: kAR
Bit4: R Bit12: IR
Bit5: DRy Bit13: R
Bit6: T R Bit14: IR R
Bit7: KIELRY Bit15: AR & A
Bitn F7x 7S EAE 5 n A7,
AT EVENt?
ERERERIP 8

1.2.4 CONFigure FZ&#%t

CONFigure:VPRO

LF WE R E
Ak CONFigure:VPRO <NR2>?
S <NR2>,[Fi47: V]
AT CONFigure:VPRO?
EIREERi7E 120.000

CONFigure:IPRO

Ui B - = RUR/ R /ALIE R
Ak CONFigure:IPRO <NR2>
S <NR2> ,[HA7: A]
AT CONFigure:IPRO?
EIREERi7E 15.000

CONFigure:PPRO

i - WEL T RRYE .
AEE: CONFigure:PPRO <NR2>
%S4 <NR2>,[#.f7: W]
AT CONFigure:PPRO?
EIRESERI7IP 150.00
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CONFigure:VON

VLF Ak Na -
Ak CONFigure:VON <NR2>
A4 <NR2>,[#£7: V]
AT CONFigure:VON?
EIREERi7E 1.00

1.2.5 LOAD F &%

LOAD
Ui B« TS A5
i LOAD <Bool>

(iR e <ON|OFF>

BE L : LOAD ON
LOAD:SENSe

YA - 7 i L R AMEFF K
[IRCTENER LOAD:SENSe <Bool>
S <ON|OFF>

WE u bl : LOAD:SENSe ON
AT - LOAD:SENSe?

[m] % a5 - OFF

LOAD:REMote

Wi B : TEFE %
Ak LOAD:REMote <Bool>
S <ON|OFF>

WE Y : LOAD:REMote ON
AT LOAD:REMote?

=] A% 5 451« OFF

LOAD:RMLOCK

LR LOCAL #4952

A Bk LOAD:RMLOCK <Bool>
S <ON|OFF>

WE Y : LOAD:RMLOCK ON
LOAD:SHORt

Ui B« JL % AT %

A TEk: LOAD:SHORt <Bool>
S <ON|OFF>

WE A : LOAD:SHORt ON
AT LOAD:SHORt?



N R LT PR A A

ERERERITP ON

LOAD:PAUSe

LR MRS IR EPES
Ak LOAD:PAUSe <Bool>
S <ON|OFF>

WE u il : LOAD:PAUSe ON
AT LOAD:PAUSe?

=] A% 5 451« OFF

LOAD:ERCLS

Wi B : B H R
Bk LOAD:ERCLS <Bool>
mASH: <ON>

WE Yl : LOAD:ERCLS ON
LOAD:CACLS

Ui B« TR EIER.

A TEk: LOAD:CACLS <Bool>
i 218 <ON>

WE Al : LOAD:CACLS ON
1.2.6 TRIG F&H4:

TRIG

Ui B« Jash— i, fil kU89 Manual I A4 H 2.
A EE: TRIG <Bool>
mASH: <ON>

TRIG:SOURce

fi A YR IEFE . MANual AR 38 ik & BRI A5 fit & 7728, EXTernal A

B SR 7SR

i TRIG:SOURce <Bool>

(iR e <MANual|EXTernal>

AT TRIG:SOURce?

=] 4% S 451« MANUAL, [7&#] MANUAL 5 EXTERNAL]

1.2.7 CURRent F &%

CURRent

Ui« wWEERE.
A TEk: CURRent <NR2>
T %S4 <NR2>,[#.fi7: A]
AT CURRent?
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EIE =R 1.000

1.2.8 VOLTage F&%%

VOLTage

Y WEMEAE.
ATk VOLTage <NR2>
S <NR2> ,[Hf7: V]
EEaaFEX 7R VOLTage?

[e % Y 451 5.000

1.2.9 RESistance F &%

RESistance

LR B H AR
B RESistance <NR2>
(iR 2 E <NR2>,[5£7:Q]
i) RESistance?

[l % 151« 100.00

1.2.10 POWer F &%

POWer

WiB WEEI R,
CIRQTER TR POWer <NR2>
24 <NR2> ,[#47:W]
AT - POWer?

=] 4% i 451« 50.00

1.2.11 TRAN F &%

TRAN:MODE
Wi WHENEBA

EIRTEN TR TRAN:MODE <Bool>

[ =8 <CC|CV>

AT TRAN:MODE?

EIRERERITP CcC

TRAN:RUNWay

Ui B« WENEEIT TR

AL TRAN:RUNWay <Bool>

S < CONT|PULSE|REVE>,[CONT %%%, PULSE fik#, REVE &%)
AT TRAN:RUNWay?

EIRERERITP CONT
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TRAN:LEVA
LR WEABREHES ABERN.

A Bk TRAN:LEVA <NR2>,<NR2>

A4 <A BUEME>,<A BOER >, [FRALA B VLR T2 A58 X)), ms]
AT TRAN:LEVA?

=] A% 5 451« 1.000,1000

TRAN:LEVB

LR WE B BUEES B BUER .

Bk TRAN:LEVB <NR2>,<NR2>

(iR 2 E <B BUE>,<B BUE M >, [FAAL:A B VLT 3h A58 ), ms]
AT TRAN:LEVB?

=] A% 5 451« 3.000,1000

TRAN:RISE

Ui B« wE FARIE.,

A TEk: TRAN:RISE <NR2>

iR ¢ < EFFHRFRS [FAAL:A/us B V/us(BUR T 2185850
AT TRAN:RISE?

=] 4% S 451« 0.100

TRAN:FALL

Ui B« WE T REREE

i TRAN:FALL <NR2>

S < T FERI S, [HA7:A/us BY V/us(HUR T 3 )]
A TRAN:FALL?

=] 4% S 451« 0.100

TRAN:REPeat

Ui B« WEHEE IR

Bk TRAN:REPeat <NR1>

(iR e <HE IH [FA71:K]

AT TRAN:REPeat?

=] 4% S 451« 100

1.2.12 OCP F &%t

OCP:STVAL

Ui B« B AIE B IRAE .

A TEk: OCP:STVAL <NR2>

i 218 <HLLE >, [FRA7:A]

AT OCP:STVAL?

=] A% S 451« 0.100
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OCP:STPVAL
LR B DR .
A Bk OCP:STPVAL <NR2>
A4 <HLLE >, [FRAL:A]
AT OCP:STPVAL?

=] A% 5 451« 0.500

OCP:ENDVAL

Ui : W B AL R A .
Bk OCP:ENDVAL <NR2>
(iR 2 E <HLLE >, [FAL:A]
AT OCP:ENDVAL?

=] A% 5 451« 5.000

OCP:STIM

Ui B« W E IR,

A TEk: OCP:STIM <NR2>
i 218 <IN [A] >, [HA7 :ms]
AT OCP:STIM?

=] 4% S 451« 1000.00
OCP:MINVOL

Ui B« WEBIEE.
Bk OCP:MINVOL <NR2>
S <BE L >, [HA7:V]
A OCP:MINVOL?

=] 4% S 451« 4.500

1.2.13 OPP F &%

OPP:STVAL
LR W BYIE DA .
Bk OPP:STVAL <NR2>
(iR 2 AE <T)ZAE >, [FRALW]
AT OPP:STVAL?

=] A% 5 451« 0.100

OPP:STPVAL

Ui B« WE TR .
A TEk: OPP:STPVAL <NR2>
i 218 <DNZAH >, [FALW)
AT OCP:STPVAL?

=] A% S 451« 1.000
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OPP:ENDVAL
LR WE UL R .
A Bk OPP:ENDVAL <NR2>
A4 <T)HAH >, [FA1:W]
AT OPP:ENDVAL?

=] A% 5 451« 3.000

OPP:STIM

Ui : W E BT A
Bk OPP:STIM <NR2>
(iR 2 E <G I} A >, [ 547 :ms]
AT OPP:STIM?

=] A% 5 451« 1000.00

OPP:MINVOL

Ui B« WEBIEHEE,

A TEk: OPP:MINVOL <NR2>
i 218 <BUE > [ 57 V]
AT OPP:MINVOL?

=] 4% S 451« 4.500

1.2.14 BATTery F %%t

BATTery:MODE
LF ANy GRS

A iEk: BATTery:MODE <Bool>

S <CC|CR|CP>, [1Ei /1E FH /B D 3 i ]
AT BATTery:MODE?

EIREERi7E cC

BATTery:VALue

LF WE N RS

A iEk: BATTery:VALue <NR2>

S <H B H, [BA1:A QW BT H )
AT BATTery:VALue?

EIREERi7F 1.000

BATTery:ENDVoltage

i - WE R HEIEEE.

AEE: BATTery:ENDVoltage <NR2>

S <# b H RS> [ A7 V]

AT BATTery:ENDV?

EIRESERI7IP 12.000
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1.2.15 CRCC F &%t

CRCC:STVAL
Ui B« wEH AR MYIGE .
A1 CRCC:STVAL <NR2>
S <fH A >, [FRA7:0]
AT CRCC:STVAL?

=] 4% S 451« 10.000

CRCC:SWVAL

Ui B« wEHAEHEAX Y.
i CRCC:SWVAL <NR2>
S <fHE >, [FA7:A]
A CRCC:SWVAL?

=] 4% S 451« 2.000

1.2.16 CVCR F &%

CVCR:STVAL
Ui B« WEHEHAYILGE .
A TE Tk CVCR:STVAL <NR2>
i 218 SELXERALETAY
AT CVCR:STVAL?

=] A% S 451« 3.000

CVCR:SWVAL

Ui B« wEHASHEAX VI
EIRTEN TR CVCR:SWVAL <NR2>
S <fEBAAE >, [F47:Q]
AT CVCR:SWVAL?

=] 4% S 451« 1.000

1.2.17 CVCC F &%

CVCC:STVAL
Ui : w B H A AIEE .
A Bk CVCC:STVAL <NR2>
(iR e <fH FEAf >, [ 47:V]
AT CVCC:STVAL?

=] A% 5 451« 3.000

CVCC:SWVAL

Ui B« WEHEB AU .
A TEk: CVCC:SWVAL <NR2>
i 218 <fE A >, [H47:A]

12
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AV - CVCC:SWVAL?
[EAL TG - 5.000

1.2.18 LED ¥ &%

LED:OPPV

Ui B« W LED #1E Mk
i LED:OPPV <NR2>
S <HERAE ST RS, [ BTV
AT LED:OPPV?

=] 4% S 451« 24.000

LED:OPPI

Ui B« W E LED #1E f H i
A1 LED:OPPI <NR2>
SR <HERAE ST, [FA7:A]
AT LED:OPPI?

=] 4% S 451« 2.500

LED:COEF

AR W& LED 2%,

i Bk LED:COEF <NR2>

(iR e <R H>,[TEl 0.1~0.4]
AT - LED:COEF?

=] 4% i 451« 0.100

1.2.19 LIST F &%

LIST:STPNum
UL : W BRI S
Bk LIST:STPNum <NR1>
A4 1~16,[Ja [ 1~16 ]
AT LIST:STPNum?
EEERERITP 3

LIST:REPeat

R W B YRISAT I EE IR
A Bk LIST:REPeat <NR1>
S 1~99999, [ 1~99999 IX]
AT LIST:REPeat?

=] A% 5 451« 10

LIST:RUNWay

AR S EIEAT T

)2:,

13
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fir A 1B LIST:RUNWay <Bool>

A <CONT|TRIG|CONTERR|TRIGERR >
CONT 4Lz 47770
TRIG fi & 77 =X
CONTERR 417, KRN FIE
TRIGERR fil k7730, KAFE R 15 1k

TG LIST:RUNWay?

=] A% 451« CONT

LIST:STEPn

R WHEE n SIS

A A TE LIST:STEPn <Bool>,<NR2>,<NR2>,<Bool>,<NR2>,<NR2>

A S (1<CC|CV|CR|CP|OPEN|SHORt>, 5 # f 3,
(2)<NR2>,#7 8, [*17:A/V/Q/W]
(3)<NR2>, i #I} [a], [#f7:ms]
(4)<OFF|CURR|VOLT|POWER>, 15 77 2 74
(5)<NR2>, 167 LR 1H
(©)<NR2>, i FRE

AT LIST:STEP1?

=] A% 5 451« CC,1.000,1000.0,VOLT,4.500,5.500

1.2.20 TIMING F &%

TIMING:MODE

Ui B« T AT () 1 oy A K
i TIMING:MODE <Bool>
(iR e <CC|CV|CR|CP|OPEN>
AT : TIMING:MODE?

=] 4% S 451« cC

TIMING:VALue

LR T B P TR Py A
(IR TENER TIMING:VALue <NR2>
S <NR2>,[Hifii: A/V/Q/W]
AT - TIMING:VALue?

[m] % a5 - 1.00

TIMING:STTRIG

ij‘é&ﬁ)%:

i A
[ =8
il
(] Ay 51

TR I (R ) AT 2 ok U o
TIMING:STTRIG <Bool>
<CURR|VOLT|EXT>
TIMING:STTRIG?

VOLT

14
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TIMING:STEDGE

LR T BT R I R A A2 7
A Bk TIMING:STEDGE <Bool>
S <RISE|FALL>

AT TIMING:STEDGE?

=] A% 5 451« RISE

TIMING:STLEV

Ui : T BT R I AR 4 H T
Bk TIMING:STLEV <NR2>
S <NR2>,[Hf7: A/V]
AT TIMING:STLEV?

=] A% 5 451« 1.00

TIMING:ENDTRIG

Ui B« T B T )0 1 225 B Ao A U o
A TEk: TIMING:ENDTRIG <Bool>
%S4 <CURR|VOLT|EXT>
AT TIMING:ENDTRIG?

=] 4% S 451« VOLT

TIMING:ENDEDGE

Ui B« T T B 25 R
i TIMING:ENDEDGE <Bool>
S <RISE|FALL>

A : TIMING:ENDEDGE?

=] 4% S 451« RISE

TIMING:ENDLEV

Ui B« T BT (B 25 SR P
A iE: TIMING:ENDLEV <NR2>
S <NR2>,[#4: A/V]
AT TIMING:ENDLEV?

=] 4% S 451« 1.00

1.2.21 OVP F&%;

OVP:VTRig

i - WHE OVP WA il % B
AEE: OVP:VTRig <NR2>
S <NR2>,[Hif7: V]

AT OVP:VTRig?

EIRESERI7IP 5.00

15
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1.2.22 EFFect F &%

EFFect:VRATE

Ui B« T B SRR ) F YR A HE
Bk EFFect:VRATE <NR2>

S <NR2>,[Hi47: V]

AT EFFect:VRATE?

=] 4% S 451« 5.00

EFFect:IRATE

Ui B« T B SN ) F YR AT S FLA
i EFFect:IRATE <NR2>

(i A8 <NR2>,[#.47: A]

A EFFect:IRATE?

=] 4% S 451« 2.00
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